—_
fife)

LT
6" "6

7

©)

1.8
6" "6

1

7

et
17

Yy

17
y

et
6

17

17

6
R

@ -



2. %x(le— 5) - 2x(2x + 1) & 7] T 2lo)A x2 9] A% 4, x 9]

AeE b=t S o, ab o] & F-5keiet.

5
=%



W 48t 912 elel A ek e 5 o] ShgelA the Tt 2
SA 7} ol A,

BA) the 418 Theks] sjofe
a—{3b+6a—(a—2b-5)+7}

27} thgat o] G e ul, AL HEA £ L A
758 Het

@ 2A : da+5b+12 © ZA : -4a-5b-12
© A4 3a-b+3 ® 95 b5a+5b+12

@ A : —da+5b-12

D L
=%



4. %x(le— 5) - 2x(2x + 1) & 7] T 2lo)A x2 9] A% 4, x 9]
A%Z b3 T 1, ab ©] B

au:



(ax - 2)(Tx+b) 5 ARt Aol ex? +10x-16 & W, &= a,b,c
skl a+ b+ ¢ o] & okl

D
=%



(x—)? 7 A o]

@ (x+y)?
@ —(x-y)?

o o

@ (—x+y)?
® (—x-y)?

@ —(x+y)?



b2
7. (x—a)(2x+5):2x2—?OE“IH,?a—bQ]%}C%? (%, b>0)

® -20 @ -15 ® -10 @ -5 ON(



8.

(x=Dx+DE*+ 1) +1) &

DO x?-1 @ x*-1

@X16—1 @x32_1



1o] x2 + hx—12 o]t}

ot

S

ol &4 a, b o] Fe T

.

ul 10

A A



10. (2x+ay)?=bx*+cxy+9y* € W, a—b+c 9 #= Fotoi=t(H,
a>0)

D L
-



